
ATLAS SCT Module Timewalk Curve  -  Thu Oct 19 23:19:10 2000  -  Unknown   -  Module 0170200003b220s30q2t140r0  -  ABCD2T  -  I nverse sqrt+ fit

Run 1739   Scans 1 - 8   Charges 1.00 - 6.00 fC   Module 0   Stream 1
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Timewalk chip 0 p0       = -2.803 +- 0.2785 

p1       = 6.851 +- 0.3461 

p2       = 0.9839 +- 0.001494 
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Timewalk chip 1 p0       = -1.376 +- 0.06506 

p1       =  6.35 +- 0.0407 

p2       = 0.9589 +- 18.95 
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Timewalk chip 2 p0       = -1.362 +- 0.4536 

p1       = 7.074 +- 0.5672 

p2       = 0.9875 +- 0.002245 
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Timewalk chip 3 p0       = 5.543 +- 0.04493 

p1       = 17.23 +- 0.05427 

p2       = 0.6941 +- 6.378 
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Timewalk chip 4 p0       = -1.231 +- 0.2832 

p1       = 7.055 +- 0.3636 

p2       = 0.9854 +- 0.001653 
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Timewalk chip 5 p0       = -2.974 +- 0.391 

p1       =  6.77 +- 0.4796 

p2       = 0.9843 +- 0.002024 
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